Kiz Mobility
2

Liberty Stroller Handle Backrest

®
O\o

eSS
Man - Folding Back

s sssssassana

If changing to a new back post style or height, please see the Liberty Tilt Mechanism parts manual page to evaluate if a new tilt cable
is necessary. If changing from a non-folding height adjustable backrest to a non-folding stroller handle backrest, #23 (003311) is
required. To obtain the "Removable Stroller Handle Extensions", please reference the "Focus CR / Liberty Removable Stroller
Handle" parts manual page.

Item Number  Part Number  Description Quantity
2-8, 9a, 10a,
10b, 11, 12a, 120747 Short Fixed Height Folding Backrest Kit Liberty 1
13-21
%O% %llj %gaa 120755 Short Fixed Height Folding Backrest Kit Tranist 1
Liberty
13-21
2-8, 9a, 10a,
10b, 11, 12b, 120748 Tall Fixed Height Folding Backrest Kit Liberty 1
13-21
2-8, 9b, 10a, . . . . .
10b, 11, 12b, 120756 1L'iabll Ir:tlxed Height Folding Backrest Kit Tranist 1
13-21 ery
2-8, 9a, 10a,
10b, 11, 12a, 120749 Short Fixed Height Folding for Stroller Handle 1
13-16, 18-22, Extension Backrest Kit Liberty
25
Used with Stroller Handle Extensions

10-18-2023



Item Number  Part Number  Description Quantity
2-8, 9b, 10a,
10b, 11, 12a, 120798 Short Fixed Height Folding for Stroller Handle 1
13-16, 18-22, Extension Backrest Kit Tranist Liberty
25

Used with Stroller Handle Extensions
2-8, 9a, 10a,
10b, 11, 12b, 120750 Tall Fixed Height Folding for Stroller Handle 1
13-16, 18-22, Extension Backrest Kit Liberty
25

Used with Stroller Handle Extensions
2-8, 9b, 10a,
10b, 11, 12b, 120799 Tall Fixed Height Folding for Stroller Handle 1
13-16, 18-22, Extension Backrest Kit Tranist Liberty
25

Used with Stroller Handle Extensions
8,11, 12a, 15- . . . .
18, 223, 22D, 120751 Ei?)%rrt Fixed Height Non-Folding Backrest Kit 1
23, 24a ty
8,11, 12a, 15- . . . .
18, 223, 22b. 120759 ?rh:r:itslt:t(i%grl'jelght Non-Folding Backrest Kit 1
23, 24b y
8, 11, 12b, 15- . . . .
18, 223, 22b. 120752 'II_';':\bIIerlxed Height Non-Folding Backrest Kit 1
23, 24a ty
8,11, 12b, 15- . . . .
18, 223, 22b, 120760 %aalllnlizsnt(i(ijbzretlght Non-Folding Backrest Kit 1
23, 24b y
8,11, 12a, 15,
16, 18, 22a, 120753 Short Fixed Height Non-Folding for Stroller 1
22Db, 23, 24a, Handle Extension Backrest Kit Liberty
25

Used with Stroller Handle Extensions
8,11, 12a, 15,
16, 18, 22a, 120761 Short Fixed Height Non-Folding for Stroller 1
22Db, 23, 24b, Handle Extension Backrest Kit Tranist Liberty
25

Used with Stroller Handle Extensions
8, 11, 12b, 15,
16, 18, 22a, 120754 Tall Fixed Height Non-Folding for Stroller Handle 1
22b, 23, 24a, Extension Backrest Kit Liberty
25

Used with Stroller Handle Extensions
8, 11, 12b, 15,
16, 18, 22a, 120762 Tall Fixed Height Non-Folding for Stroller Handle 1
22b, 23, 24b, Extension Backrest Kit Tranist Liberty
25

Used with Stroller Handle Extensions
2-7,12a, 13- 506324 Backpost Assembly Short Fixed Height, Folding, 1
15, 17, 19, 20 Liberty
2-7,12b, 13- Backpost Assembly Tall Fixed Height, Folding,
15,17, 19, 20 | 206325 Liberty 1
2-7, 12a, 13, 506650 Backpost Assembly Short Fixed Height Folding 1
14, 19, 20, 25 for Stroller Handle Extension Liberty

Used with Stroller Handle Extensions
2-7,12b, 13, 506651 Backpost Assembly Tall Fixed Height Folding for 1
14, 19, 20, 25 Stroller Handle Extension Liberty

Used with Stroller Handle Extensions

10-18-2023




[tem Number  Part Number  Description Quantity
Backpost Assembly Short Fixed Height, Non-
12a, 15, 17, 23 | 506172 Folding, Liberty 1
Backpost Assembly Tall Fixed Height, Non-
12b, 15, 17, 23 | 506173 Folding, Liberty 1
Backpost Assembly Short Fixed Height Non-
L 2 Ze slliete Folding for Stroller Handle Extension Liberty 1
Used with Stroller Handle Extensions.
Backpost Assembly Tall Fixed Height Non-
12b, 23, 25 506649 Folding for Stroller Handle Extension Liberty 1
Used with Stroller Handle Extensions.
12a, 15, 17 506807 Ei%(élﬁglost with Grip Assembly Short Fixed Height, 1
12b, 15, 17 506808 Backpost with Grip Assembly Tall Fixed Height, 1
Liberty
Backpost with Stroller Handle Extension Grip
L2z 28 St Assembly Short Fixed Height, Liberty 1
Used with Stroller Handle Extensions.
Backpost with Stroller Handle Extension Grip
12b, 25 506810 Assembly Tall Fixed Height, Liberty 1
Used with Stroller Handle Extensions.
2-8, 9a, 10a,
10b 11, 13, 14, : o
16, 18,19 20, 506164 Folding Backrest Hardware Kit, Liberty 1
21
Kit Includes Hardware for Left and Right side. Used to
retrofit from non-folding to folding.
2-8, 9b, 10a,
%gfjllsl,’ 1193:'210%’ 506165 Folding Backrest Hardware Kit, Transit, Liberty 1
21
Kit Includes Hardware for Left and Right side. Used to
retrofit from non-folding to folding.
8, 11, 16, 18, . e
223, 22, 23 506323 Non-Folding Backrest Hardware Kit, Fixed 1
o4a Height, Liberty
Kit Includes Hardware for Left and Right side. Used to
retrofit from folding to non-folding.
8, 11, 16, 18 . - .
A g Non-Folding Backrest Hardware Kit Fixed Height
%4213 22b, 23, 120763 Transit Liberty 1
Kit Includes Hardware for Left and Right side. Used to
retrofit from folding to non-folding.
8, 9a, 10, 11, : .
13, 16. 18, 21 120795 Folding Backplates w/Hardware Liberty 1
Kit Includes Hardware for Left and Right side.
8, 9b, 10, 11, 120796 Folding Backplates w/Hardware Transit Libert 1
13,16, 18, 21 9 P y
Kit Includes Hardware for Left and Right side.
8, 11, 16, 223, : )
2%b, 23, 243 112924 Non-Folding Backplates w/Hardware Liberty 1
Kit Includes Hardware for Left and Right side.
8,11, 16, 22a, 120797 Non-Folding Backplates w/Hardware Transit 1
22Db, 23, 24b Liberty
Kit Includes Hardware for Left and Right side.
3,6 503834 Cover Plate, Latch Insert Kit 1

10-18-2023




[tem Number  Part Number  Description Quantity
1 001239 P-Clip 3/16" 1
2 001893 Latch Lever, Backrest 1
4 001895 Latch Insert, Folding Backrest 1
5 001896 Spring, Backrest Latch 1
6 001897 Washer, Dual, PSA 2
7 002513 Threaded Barrel, 5mm OD x M4 1
8 003284 Binding Post, 8mm x 40mm x M6 1
9a 003307 Back Plate, Outer, Folding 1
9% 506322 Transit Back Plate Folding, Liberty 1
10a 003308 Back Plate, Inner, Folding, Right 1
10b 003309 Back Plate, Inner, Folding, Left 1
11 003312 Saddle, Seat Tube 2
13 100658 M6 Nylock Nut Blk Zn 8
14 100797 M6 x 40 BHCS BLK ZC 1
15 100804 Tube End Plug 1" 1
16 101184 M6 x 10 BTN SHCS BLKZC w/Patch 1
18 101781 M6 x 50mm Partial Thread BHCS BIk ZC 3
19 101818 M4 x 10 FHCS BLKZC w/Patch 2
20 102694 Dowel Pin, M5 X 24, Blk Zn 1
21 102803 Washer Flat .250 x .500 x .027 HX BLZ 2
22a 003305 Back Plate, Inner, Non-Folding, Right 1
22b 003306 Back Plate, Inner, Non-Folding, Left 1
23 003311 Receiver, Back Cane, Fixed Ht 1
24a 003304 Back Plate, Outer, Non-Folding 1
24b 506564 Transit Back Plate Non-Folding, Liberty 1

10-18-2023




